PROFESSIONAL EXAMINATION BOARD

Group-2(Sub Group -4) Labour Inspector and other equivalent post
Recruitment Test

11th January 2017, 09:00 AM
Topic:- General Science

1)
Question Stimulus :-

The hormone that maintains correct salt balance in the blood is / Y& H '\‘Iﬁ GELI Hﬂ?ﬁ T @A It ETFIﬁ %I

e Insulin /?F\‘IR’H
. Adrenalin/Q’%ﬁﬁF{

. Oestrogen/Gﬁ'?g@TrF-r
o Thyroxine/mﬁq

Correct Answer :-Adrenalin /Qﬁ;ﬁﬁq
2)
Question Stimulus :-

Approximate time taken by peels of vegetables & fruits ,leftover food stuffs to degenerate is / gfeoral 3k
wal & foas!, g3 Tre IRl B syt g1 B T S99 IHY T § -

1toneeks/Q$ﬁEﬂ'W

10 to 30 days / 10 9 30 fe=1

2to5 months/ﬁﬁqﬁqﬁﬁ

About a year / TRTHIT U Tl

Correct Answer :-1 to 2 weeks / Tdh ﬁ E.Pf H«le
3)
Question Stimulus :-
The process by which plants lose water is called / aien R oA BI digr IREAGRERER HEATd! % -
e Evaporation / Gl ERY|
e Transpiration / CIL G R
e Precipitation / 3rgayur
e Respiration / XA
Correct Answer :-Transpiration / aTSUYTST

4)



Question Stimulus :-

Bar screens in wastewater treatment help to remove / 3UfRI¥ 5@ IUIR ¥ TR BHIF B Wgq I 9 geld g:
e Microorganisms / ﬁ&ﬂ“ﬂa

Chlorine and other chemicals / TR Td 3= 39194

Plastic cans, sticks, packets | W & %ﬁ, m, TP

Oil and grease / a U.'a piKc]

Correct Answer :-Plastic cans, sticks, packets / WS & %@, m, TP

5)

Question Stimulus :-

When electric current is passed through water, water dissociates into Hydrogen and Oxygen. This is an example of

the / 5T | fagad URT &1 yaIRd F1 R, 9d FIFSoH R fiRite ¥ fauifora giar 81 a8 s9a1 3gerur g
o chemical effect of electric current / ﬁ—g';q_d YRT &1 IS YHTT
e Magnetic effect of electric current / ﬁg‘u?r YIRT BT ﬂﬁ?ﬂ'ﬂ YUHTd
o Heating effect of electric current / fagad YRT ST AT YHTT
e Both chemical effect & Magnetic effect of electric current / ﬁ'g’ﬁﬁ Y RT BT IS 3R YaD 1 gHTT gl

Correct Answer :-chemical effect of electric current / ﬁg{ﬁ' YRT BT IS
ERIC)

6)
Question Stimulus :-

The centripetal force required by a satellite to move in a circular orbit is provided by the / Th ﬁ%ms?: AR T

ST T & RIT o arer fdsia o g1 far s g1
e Electrostatic force / fTRR afc',ﬂ?l qd
e Nuclear Force / ATTUSIT I
« Magnetic Force / Ga® 19 §a
« Gravitational force / TREQTHYUT g
Correct Answer :-Gravitational force / TRE@THYUT q
7
Question Stimulus :-

Underwater earthquakes can produce powerful waves that travel at high speeds. These waves are called / GIW

YU fRTITel oAl ST B T d & St I I UR T Bl &1 T§ ) peardl @
e Twisters / §48%

e Tsunamis / ﬁ‘ITFﬁ



® Hurricane / {WTH
e Tides / SdI}

Correct Answer :-Tsunamis / '\EFITFﬁ
8)

Question Stimulus :-

Which one of the following fuels has the maximum calorific value? frafafea @ 3 Cac k) S&F[ 3iftre & siftre
FERY AT 4T 72

e Charcoal / AR®IA

e Kerosene / AR

e LP.G/TqUlSi

o Wood/?ﬁﬁﬁ
Correct Answer :-L.P.G /Q?I'tﬂTrﬁ
9)
Question Stimulus :-

Vidya pushes the trunk from left to right. The force of friction will act on the box / ﬁHTIT W I a'ra 1 3R
yherdl g1 o &1 99 fess R wrd |

e From left to right / I ﬁ ETa G| GﬁT
e From right to left / aﬁ%aﬁiﬂaﬁ'\f
e From both sides / GIFIl aRW §
e Vertically upwards / dHdd $HUY B! 3R
Correct Answer :-From right to left / S I 91 Bt 3R
10)
Question Stimulus :-
Identify the bird sanctuary located in Rajasthan / TSR H fRua ueft STHYRUY JATd aﬁﬁm
e Thattekadu /| YSPTG
e Bharatpur / HYdUX
¢ Ranganthitu / T"I'Iﬁl?‘g’
e Sultanpur / FITAYR

Correct Answer :-Bharatpur / HIdUR
11)

Question Stimulus :-



Amaranthus & grass are examples of / iﬁ?l'l'ﬁf Gﬁ'\’ U ?\qa? W% -
e Leguminous plants / FdlgR WY
e Cereal crops / 3Tl I
e Weed plants / WRUJAR e
¢ Plantation crops / AU B
Correct Answer :-Weed plants / WRUdAR 110
12)
Question Stimulus :-

War tanks move on caterpillar tracks which are broad, chain like covers on the wheels. This causes / & %, PR

¢ W IE § o ufedl R A B IRe Faw R iR S T ¢, 7T Ao |-
e An increase in the area of contact with the ground / \_rlTﬂq % gy ;rq?% %? 8:']3[ 'l}l Q'@ ﬁ?ﬁ%l
e A decrease in the area of contact with the ground / SHHE & 1Y 9UP 8’33[ A o Eﬁ?ﬂ %I
e An increase in the pressure on the ground / S WR gaa | q@ gt %I
e An increase in friction on the ground. / iG] WWﬁ' Q'@ ﬁ?ﬁ %I
Correct Answer :-An increase in the area of contact with the ground / \_rl'm:[ % gy W % ?H?l' ﬁ' Q'@ ﬁ?ﬁ %I

13)
Question Stimulus :-

Food does not spoil for months if it is stored at / HIS- TG d® ©RIH 81 gidT Afg I 39 A1 W ATg I
forar S|

e -18°C

o

e 5C

o

e 10 C
¢ Room temperature 25" C /P& dig 25°C

Correct Answer :--18° C
14)
Question Stimulus :-

One of the following poisonous gases can combine with the hemoglobin in our blood & can cause death. The gas is /

%ﬁ?@amﬁﬂﬁﬁﬁwmmﬁﬁmﬁq%mmm%aﬁvn;zgmwaqmo—cﬁ%la-s'
e Sulphur dioxidelwmm

e Carbon dioxide / PTa STS3THATSS



e Carbon monoxide /Wﬁm

e Ozone/ 3fISlIF
Correct Answer :-Carbon monoxide / BT ﬁ*ﬁaﬁ?\‘lﬁg
15)

Question Stimulus :-

100° on Farenheit scale will be equal to Celsius scale on / mﬁ? LeeiC g 100 %‘/ﬁ, AR Les i W?{\‘Iﬁ?
R Eﬁl‘ll :

o 38°

e 37.8°

e 38.6°

e 37°
Correct Answer :-37.8°
16)
Question Stimulus :-

Anaerobic respiration in the muscle cell results in the accumulation of / U= ST A Srargdy 494 &
af¥umy | 39PT T glaT 8

Lactic acid / dfde® 3ra

Glucose / Wﬁl

Alcohol / T&PIgd

Hydrochloric acid / 313@3@'&37 ST

Correct Answer :-Lactic acid / dfdce 3

17)
Question Stimulus :-
Identify the country leading in the production of silk. / IIMH & IS H RIS ¢ Bl qdigu
e India / HIRd
e China /9
e Japan / SITUTH
e Indonesia / Eﬁaﬁ'ﬁﬂ
Correct Answer :-China / 99
18)

Question Stimulus :-



Rain forests are often described as / THI I SRR e g ﬁ afofa fad o %'I

e Living jungles / 3{TdTT SiTTe

e Ecosystem / LIIEGE]

e Biodiversity / wa fafaear

e Biome /SiIAIH
Correct Answer :-Living jungles / 3TdTT ST
19)
Question Stimulus :-

The loss of fertile topsoil due to heavy rain and wind is called / YR quf 9 Ua9 & FRUT SUSTS UL Hal ARG

HEATd -

Deforestation / W
Afforestation / GO

Soil erosion / {qI UG

Weathering / STU&IUT

Correct Answer :-Soil erosion / §ql 3U¥g
20)

Question Stimulus :-

When we turn the volume up on our television, we are turning up the / Sid gH TAfae @t SmarSt o FRA %, al

AT IR
) Frequency/\"}ﬂq%l
o pitch/ U
e Quality / TOTAT
o Amplitude / 3TATH
Correct Answer :-Amplitude / TITH
21)
Question Stimulus :-

When light is incident on a highly polished surface such as a mirror, then / SId U & o 3t JHD R Idg IR
UHTR STUfad §ia1 ¢, a9

e Regular reflection takes place / frafra wrada Eﬁ?ﬂ %
e Diffused reflection takes place / foada wada ﬁ?ﬂ %

e Refraction takes place / 3= 3.1?IT %



¢ Dispersion takes place /Wﬁéﬂw Eﬁ?IT%
Correct Answer :-Regular reflection takes place / fraftra wad= gl %

22)
Question Stimulus :-
Identify the CORRECT statement among those given below:

A distance- time graph in respect of a moving bus gives us information about /
Fraferfaa awi 9 & a8 7 o) ugaH -
TS gadt a9 & FeH d TP g)-9HT UTF g4 I8 TFPRI Sl g
® The speed of a bus with respect to the distance / ﬁﬁ & ded A su i nfa
e Time taken by the bus with respect to speed / Tfa & g A 99 gRT foram T 9wy
e Distance covered by the bus at any instant of time / 3t arep1iere W § 99 gRT 99 &t T §'\Pf
e Only the distance covered. / HT @9 @I AT §'\Pf

Correct Answer :-Distance covered by the bus at any instant of time / o<t arepTiore 99a § 99 gRT 99 91

T gt
23)
Question Stimulus :-
The acid present in curd is / gal # SufRa s @
e Oxalic acid / 3TFATD 3T
e Lactic acid / Afde® 3
e Tartaric acid / CISIRP 37T
e Hydrochloric acid /FE@W-']W ST
Correct Answer :-Lactic acid / Qfde® 317
24)
Question Stimulus :-

A metal reacts vigorously with water at room temperature. When it is dropped into water, it darts
around the surface with a hissing sound. The metal is / T A9 TR T YT 5T & A1 diear I ifuferan
FRATE | 99 S oA | R 11 8t 98 98 AR FH W@ & I g Tfa A ST AT a8 g 2 -

J Sodium/?ﬁ'%-::;:sw
e Aluminium / ¥gAAaw
e Calcium / HIRTAH
o Magnesium/'a":ﬁﬁmﬂ



Correct Answer :-Sodium / '\‘ﬁ'%ﬂ'q
25)
Question Stimulus :-
Coal gas is a mixture of / CauRIRIE:| R Eal forgror %
e Methane, Hydrogen & Carbon monoxide / ﬁrih, GE@FFT 3R BT ﬁﬁﬁ?\‘lﬁ_g
e Methane, Hydrogen & Carbon dioxide / ﬁfﬂq, E’IB@T:FT Gﬁ? BT ?:TEGIV'IW'IE?:'
e Methane, water vapour & Carbon monoxide /ﬁr?h, S a1y 3R HIE ﬁﬁﬁ?\qﬁ_g
e Methane, water vapour & Carbon dioxide / ﬁ‘n’h, e 919 3R P maﬁﬁﬁg
Correct Answer :-Methane, Hydrogen & Carbon monoxide /ﬁl’ﬂ?, EE@VF{ 3R BT ﬁ\?rl'lv?\‘l'l?gg

Topic:- General Hindi
1)

Question Stimulus :-
v’ | S §-

o dv|

. WG
Correct Answer :-dd
2)
Question Stimulus :-
Hiftra &7 # diefl 99 aTell YT St FoT ar o |

e HTUT

Correct Answer :-§eil

3)

Question Stimulus :-

YT TN TP d o [ & § 59 dip e &1 98! o sifew -
o @I H &9 I aTd DI 9gd Tgd e



o BH FH a6 WY B 3T fe@m &1 yard #ar &
o fauf & w@g garn
o MUt THAAT A TGP qTd HIAT
Correct Answer :-%H JT aTal W4 S 3w @™ &1y sxar g
4)
Question Stimulus :-
I A THT S IS AU HY AR FRETN WRgd a1 & B AT UGay 3 2
. fopar ey
o fora foivor ugey
. foRIvor yeEy
o T UEY
Correct Answer :-H3T UgGa ¥
5)
Question Stimulus :-
e & & fawranfe v e g
T 9e uF for@an @
e TRGHIETE @
. A o1 P AT g WA o
o 3% UE A HigH A foran 8
Correct Answer :-3¥! Ig U7 Hig A forar @
6)
Question Stimulus :-
g BT G e B-
o M+
o N3
o T3
o M+3H
Correct Answer :-T+3[9
7)

Question Stimulus :-



Mg ai 31 .......... U g1 W oft I e e e R & o 9t gt aren wsg g

Correct Answer :-3afel
8)
Question Stimulus :-
«3iTE W S I Yerar W = & A H19 1 o el 32
o G @I AT
 9gd UgTd BT
o o 9 WA
o TEA PIY AT
Correct Answer :-9=H &+ ST
9)

Question Stimulus :-

ST A O 9Tell 3T T gl @ 2

Correct Answer :-gldlHd
10)

Question Stimulus :-

forT® gRT8H 3 Yal Td faaR) &7 e USH $3d & 9 Hel Sdr 2|



Correct Answer :-HTHT
11)

Question Stimulus :-

33 o1 faudiard® s F AT 2

Correct Answer :-ﬁ?[
12)

Question Stimulus :-

I F YR W Fr=Afrfaa ot &1 Vg Fagd -
gfg a8 uRew a1 dl 9% gl S
o faurraras
o foranfe dtue
o faftraras
o JDbqardd
Correct Answer :-Hbdard®
13)
Question Stimulus :-
Sl T 7 A1 B & foIY U@ 2eg FTI-
o 3quiityg
o JHIYd
o ABY
. Sifdaig
Correct Answer ;-3 Ud
14)
Question Stimulus :-
U | HIF-91 I 9§99 ©U § WY g1 82

o IO



Correct Answer :-UTOT
15)
Question Stimulus :-
fFrafafaa geast & A fFaeT o e IR 4T @M R JaY™ 8 §Er 2|
« TR P G fo=a
¢ THAB/HRARIR
o T HE AT S T 0T AR
o U P e B8 N $F b R drar @
Correct Answer :-g¥f BT oIl BT t & o 2 a1 8
16)
Question Stimulus :-
e H1 TP A 3-
. Sfed
o T
. fire
. A9
Correct Answer :-fRg
17)
Question Stimulus :-
DI AT I “WATfA> BT gargardt 181 § -
o I@Y
° 3{‘157;{!]’
o IUE
o I
Correct Answer :-3eT
18)

Question Stimulus :-



o fafy fe
Correct Answer :-gfea
19)

Question Stimulus :-

fredl ugd NS T UF BT IR T8 M R I fawg A grg e & forg forar wiM arei v dgarar 21

Correct Answer :-{JHR P
20)
Question Stimulus :-
“SUTEr § SUHI-

- 3T

o 3

o 3Y

- IUTE
Correct Answer :-31
21)
Question Stimulus :-
ufeer o1l faede -

o Ud+sd

o THTF

o TI+3T

o Uq+sA



Correct Answer :-113[+33[
22)
Question Stimulus :-
= ¥ 9 31 o feaat 82
° g4
o AR
o IAUD
o 3iRT
Correct Answer :-3[dT%
23)
Question Stimulus :-
Aq®’ PTG 8-
* Yo

Correct Answer :-YcI
24)

Question Stimulus :-

I fAfafad & 9 fea v 91 fafu 22

Correct Answer :-3(UGil
25)

Question Stimulus :-

59 vreg W W@ IUTf TE B
o Wraad!

o WMTd



o WdA
o IgATfod
Correct Answer :-HdTd

Topic:- General Mathematics
)

Question Stimulus :-

If the product of zeros of the quadratic polynomial f(x) = 2x2 + 8x + k is 5, then k =/ ?T% f(x) = 2x% + 8x + k

feraTa 9gue & Y T UFEA S R, Al k=
e 6
e 4
e 10
e 16
Correct Answer :-10
2)
Question Stimulus :-

The mean weight of a group of 5 girls is 47. The individual weights (in kgs) of 4 of them are 42, 46, 53 and 40. The

weight of the 5th girl is / 5 SIS P TP THE T HIH ToI, 47 31 ITH A 4 ITferp13if &1 AferaTa ao
42, 46, 53 TG 40 g1 591 TP PT o B:

e 48

e 54

e 50

e 45
Correct Answer :-54
3)

Question Stimulus :-

20 circular plates_each of diameter 14cm and ﬂ}icknessz cm are placed one above the other to forma

solid right circular cylinder. The total surface area (in cn?) of the cylinder so formed is / 20 TehIT
coe, et § Uede 1 cun 14 [ vd Aers 1 W §, OF F W F B 36 GHR W™
AT § & Uh B W gecdiy Aol 1 AT giar 81 AAT Seiet 1 Her gsS aver
(@ ) &

o 720

e 840



e 968

e 894
Correct Answer :-968
4)
Question Stimulus :-

1
W23 (/5)3

| ol e 3R RoneHE 3T & B
Tellehd HIfAT]

Simplify by removing the radical sign and negative ndices
1 1

W22 (B3

(1000)%/2
(100) 3fz

(1000)1/3
{1 {m) 213

(1000712
Correct Answer :-

5)

Question Stimulus :-

Two lines AB and CD intersect at'0'. If ZAOD = x + 25 and #BOC = 4x - 11, then £AOC = / &I @0
AB ©d CD, 'O’ W 9ideadicd &ial ol I7G £AOD=x+251Ud £BOC=4x- 11, dd LAOC =

Correct Answer :- 143

6)

Question Stimulus :-



There are two flower baskets A and B. If 12 flowers are transferred from A to B, then the number of flowers in each
basket is the same. If 23 flowers are transferred from B to A, then the number of flowers in A is double the number

a8 2 Y, ARBRITR 2 FAAIBH
aﬂmwﬁﬂluﬁBﬁAﬁzswwﬁﬁ
[ B IWT DI G g1 | T Bal Dt W& RI

of flowers in B. The total number of flowers is /
wFaRd f6d 9, df U Syt |
f5a oy, df A 9 ol @t IeI, B H
e 190
e 210
e 165
e 170
Correct Answer :-210
7)
Question Stimulus :-
81, 52, 29, 73, 48, 33, 31
The median of the above data is / $HUX ﬁT{ Mg sTcTar 3PS PTHA %
e 29
e 33
e 81
e 48
Correct Answer :-48
8)
Question Stimulus :-
The volume of a cone is 98an’ Ifthe height ofthe coneis Tom, thenthe area
of the baseis / Th Ql'Tf HI HII. 98T &1 I Q@ﬁ uﬂg 7
el B, df W & A B
34 am? | 34 FAL2
21 am?/ 21 2
42 an? | 42 THI2

46 cm? (46 FHI2

2 1 f ;ﬂ?ﬂ'l
Correct Answer :- 42am’ [ 42 !

9)

Question Stimulus :-



The dimension of a rectangular metallic sheet is 42cm x 28cm. From each of its corners a square of side
6cm is cut off. An open box is made from the remaining sheet. Find the volume of the box. / ATIdATPRR

yTfeae 2fie &1 3mamH, 428+ x 28T 81 TP UAP PN (@ 1R) T 60 & T B P1e forar S
21 91 g% e |, U gar 9991 ST 1T ¢ | I BT a1

2460cm’® / 2460052
2880cm? / 28808, ?
1986cm® / 198683, 3
2520cm? / 252083

o 5 Pl 3
Correct Answer :- 2880cm? / 28808,

10)
Question Stimulus :-

Sum of 'n' terms of an A.P, whose n'M term is given by 2n - 5, is / TH IR GI'R.E'UT (A.P) F n Uq &I T I,
fSRI®T nal ug, 2n - 5 gRI AT TAT 8-

n(n - 4)

n(3n -14)

n(2 - 3n)

n(3n - 5)

Correct Answer :-n(n - 4)
11)

Question Stimulus :-

Two dice are thrown simultaneously. Find the probability of getting a number other than 2 on any dice. / 33f T

TP 914 b o1 ¢ 1 fopdt +ff Ui uR 2 & Srelrar 3 IS =T 3 B UrfepdT J1d Y|

25

36

23

. 36

WO LA



25
36

Correct Answer :-
12)
Question Stimulus :-
1— sin®45
1+ sin®45
sin?30?
Ztan2600
cotta0d

2cosig sl

cottan?
Correct Answer :-

13)

Question Stimulus :-

Which of the following quadratic equations has real and rational roots? / frafafea o 9 foeg feara gtz
# areafae vd ulay qa 82

o 2x*+5x-1=0

o X2+8x+6=0

o 4x*-5x+2=0

o 5x%+6x+1=0
Correct Answer :-5x> + 6x +1=0
14)
Question Stimulus :-

In triangle PQR points L, M and N lie on PQ, QR and PR respectively to form a rhombus LQMN. If PQ = 18cm
and QR = 9cm, then the perimeter of the rhombus LQMN =/ ﬁ";ﬁl’ PQR ﬁ, ﬁ’g‘,’ L, M Td N SFHT: PQ, QR Td
PR R T GHagys LQMN &7 frmfor wa 81 afe po = 18 Ift. wg Qr = 9 3. 3, a9 gw=gyds LomN
T gAY §:

e 32cm/329H.

e 28 cm /28 THI.

e 30 cm /30 9HL.



o 24 cm /24 9HY
Correct Answer :-24 cm / 24 JHY.
15)

Question Stimulus :-

A number is selected at random from the numbers 2,3,3,4,4,4,5,5,5,5 . The probability, that the number selected is
their average, is / TGS 2,3,3,4,4,4,5,5,5,5 § | T YWAT HT Uefedddl A 994 fPaTwar sl I=m 39¢ 3i9d
R 99d 8, $ WiRear g -

2
. 5
3
. 10
i
. 2
1
. 5

3

10

Correct Answer :-
16)
Question Stimulus :-

a+b

-
=

It

=4 and ab = 7. then the value of (a - b) =/ I %=43ﬂ?ah=?. a9 (a-b) & HET =
+4

+6

Correct Answer :- —
17)

Question Stimulus :-

The distance between the centres of two circles touching extemallyis 1 1cm. If the sum of their areas is

73m cm?, then the radius of the larger circle is / FEI: g9 &LET drel ai{ agﬁﬁ & éa_q’ & arg Fr
el 11 3 1 afg sa1h alwel &1 AT, 73n 42 §, a9 93 goa 1 Bedr &



7cm/7'\a1=n.
8cm / 8 L.
6em / 6 HL.
9cm /9 .

Correct Answer :-8cm / 8 THT.

18)

Question Stimulus :-

The least positive value of *k’ for which the equation x* + kx + 9= 0 has real roots, is /

i @ TgeIaH GellcA® Al [oigeh ot FHeRT x2 + kx + 9= 0 AFdidesh Hel ©. Bl

e k=4
Correct Answer :-k = 6
19)
Question Stimulus :-

The sum of three numbers in an A.P is -6 and their product is 24. Taking the positive value of the common
difference as 'd' ,find the smallest of the three numbers. / Th JHIdR GﬂﬁE'UT (A.P) A 9 d=msi &1 9T -6
? U4 99T UG 24 81 ‘d’ & ©U A JMTA 3R F YATHS TTH $I 7@ R, il 7 o) S "=
I B |

e -6

Correct Answer :--6
20)

Question Stimulus :-

If 4x* - 6kx® + 7x* + 3x + 2k leaves the remainder 3k when divided by (x - 1). thenk = /

TG 4x* - 6kx + 7x2 + 3x + 2k I (x - 1) U 1T & & ol Ael 3k ICABIaTal df k =
° 4
e 6

e 2



e 1
Correct Answer :-2
21)
Question Stimulus :-

The angles of a triangle are arranged in ascending order of magnitude. If the difference between the two
consecutive angles is 15°, then the smallest angle is / TP [Ecawk:g ﬁw, ufHToT &% SIAR Gﬂﬁﬁ H
# afRyd g1 afS gt AT BN & did $1 3R 15° ¢, 9 HIH BT DIvT 3:

o

e 30

(o]

e 50

o

. 45

o

e 35

Correct Answer :-45o
22)

Question Stimulus :-

iqﬂ_ !
Simplify [OG) 02)
‘3'\ \ 1\ ‘—1\
0.05)" =(0.2)”
m i ‘\—1‘\_ 3} ,-’t —j_ -1
3] Bl Y
8) A3y L3y
:1.
e 13
Bl
o 16
&
. 17
i
e 15
=2
17

Correct Answer :-

23)



Question Stimulus :-

The inner and outer diameter of a cylindrical pipe is 14cm and 16cm respectively. Find the weight of 7cm long
pipe, if the density of the metal used to make the pipe is 7.8gm/cm? / wé?mwr\r Urgy &l st e qTed
T PHT: 1494, 3R 163H. §1 73 7 Iy @1 9ui= fAeriag, afe ursy & 791 & foe vaT 3t 18
Tg Pt TU=AT 7.8 ATH/AW

e 2.574kg / 2.574 fopU.

e 3.128kg/ 3.128 fHT.

e 1.526kg/ 1.526 fopT.

e 4.124kg/ 4.124 THI.
Correct Answer :-2.574kg / 2.574 .
24)

Question Stimulus :-

-

£ o - - 2 iy
The value th—_ées G} = | {—ZFGSTGJ & A =

_sm20 Csm2)

0

.

4

1

2

4
Correct Answer :-

25)

Question Stimulus :-



The table shows the status of 30 residents.

Gender Students Employees
Male 8 9
Female 6 7

If a resident is chosen at random_ find the probability that the chosen resident will be a student. /

S drfeler, 30 Farfaat & Bufa &= g g

IGEl fagzmff FHANT
gEY 8 9
AT 6 3

afg acfcos ¥ ¥ ve Haddt & 994 & 9, & 39 9afag Hand & Geanft g=
T FrAwar TraeT gef?

olw Gl

o |~

| e

7
15
Correct Answer :-

Topic:- General English
)

Question Stimulus :-

Read the sentence carefully and choose the option that has an error in it:

Irregardless of what you say, you will still be suspected.
e Irregardless
e of what you say,
e you will still be suspected.
e No error

Correct Answer :-Irregardless



2)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

you are ready, please inform me over the phone.
e Yet

e Why

Whenever

Whether

Correct Answer :-Whenever
3)

Question Stimulus :-

Choose the option that best transforms the sentence into its other voice:

We have reserved a room for you at the Grand Hotel.
e A room has been reserved by us for you at the Grand Hotel.
e A room has been reserved for you at the Grand Hotel.
* A room at the Grand Hotel had been reserved.
e The Grand Hotel has a room reserved for you .
Correct Answer :-A room has been reserved for you at the Grand Hotel.
4)
Question Stimulus :-

Choose the option that best transforms the given sentence as directed:

How hot the weather is! (The assertive form of the sentence)
e The weather is being very hot.
e Itis a very hot weather.
e It is being a hot weather.
e The weather is becoming very hot.

Correct Answer :-It is a very hot weather.

)



Question Stimulus :-

Complete the sentence choosing the right form of Prefix:

This tea cup is ___usable as it is made of porcelain.
e re-
o pre-
e in-
e un-
Correct Answer :-re-
6)
Question Stimulus :-

Choose the option that best transforms the sentence into its other voice:

The boy wrote a letter to his parents.

A letter was written by the boy to his parents.

Letter was written to his parents by the boy.

A letter has been written by the boy to his parents.

A letter had been written to his parents by the boy.
Correct Answer :-A letter was written by the boy to his parents.
7)

Question Stimulus :-

Choose the option that best fills in to complete the given sentence::

Do not distract me. I to concentrate.
e was trying
e am trying
° try
e tried
Correct Answer :-am trying
8)

Question Stimulus :-



Choose the option that best punctuates the given sentence:

Its important that the childs toys are kept in its place
e Its important that the child’s toy’s are kept in it’s place
e It’s important that the child’s toys are kept in its place.
e [It’s important that, the child’s toys are kept in its place?
e It’s important that, the child’s toys, are kept in it’s place.
Correct Answer :-It’s important that the child’s toys are kept in its place.
9)
Question Stimulus :-

Choose the option that best punctuates the given sentence:

Lebowitzs experience with cancer prompted other changes in her life
e Lebowitz’s experience with cancer prompted other change’s in her life.
e Lebowitz’s experience with cancer prompted other changes in her life
e Lebowitzs experience with cancer prompted other changes in her life!
e Lebowitz’s experience with, cancer, prompted other changes in her life.
Correct Answer :-Lebowitz’s experience with cancer prompted other changes in her life
10)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

Let's be straight each other.
e for
e against
e with
e at
Correct Answer :-with
11)
Question Stimulus :-

Choose the option that is closest in meaning to the highlighted word in the given sentence:



I paid her a charming compliment on her getting the first place in the university examination
e price
e praise
e pleasure
e smile
Correct Answer :-praise
12)
Question Stimulus :-

Choose the correct form of verb that is in agreement with the subject:

There more orders coming from Spain during the year 2000.
® is
e are
* were
e has been
Correct Answer :-were
13)
Question Stimulus :-

Choose the option that best transforms the sentence into its Direct / Indirect form:

The teacher said to the boy, “shut the door.”
e The teacher asked to the boy to shut the door.
e The teacher asked the boy to shut the door.
e The teacher asked the boy that to shut the door.
e The teacher said the boy to shut the door.
Correct Answer :-The teacher asked the boy to shut the door.
14)
Question Stimulus :-

Choose the most suitable determiner for the given sentence:



The cloth mill is opening new retail outlet in a week.
e afew
* some
e its
e alittle
Correct Answer :-its
15)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

He was prison two years.

at, for

e in, over

e in, for

¢ into, since
Correct Answer :-in, for
16)
Question Stimulus :-

Choose the option that best transforms the sentence into its Direct / Indirect form:

He said, “God is great.”
e He said that God was great.
e He said that God is great.
e He said that God is being great.
e He says that God is great.
Correct Answer :-He said that God is great.
17)
Question Stimulus :-

Read the sentence carefully and choose the option that has an error in it:

Dr. Fields received so large bill when he checked out of the hotel that he did not have enough money to
pay for a taxi to the airport.



Dr. Fields received so large bill

e when he checked out of the hotel

did not have enough money

to pay for a taxi to the airport
Correct Answer :-Dr. Fields received so large bill
18)

Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

The belief in life after death is prevalent in both primitive societies
e and
e Dbesides
e but
e as well as
Correct Answer :-and
19)
Question Stimulus :-

Choose the option that best fills in to complete the given sentence::

I for Rahul. Do you know where he is?

e look

will looked

am looking

went looked
Correct Answer :-am looking
20)

Question Stimulus :-

Choose the option that best transforms the given sentence as directed:

He is weak. He will pass.

(Combine the two sentences into one sentence)

advanced cultures.



e He is weak and he will pass.

He is weak, so he will pass

He is weak but he will pass

Despite of his weakness he will pass.

Correct Answer :-He is weak but he will pass

Topic:- RC_General English
1))

Question Stimulus :-
Read the following passage and answer the question given below:

In 1992, the world’s largest island, Madagascar, issued a set of stamps featuring six species of cultivated
fruit. They were the litchi, the orange, the banana, the avocado, the peach, and the plum. The orange is
technically an oval shaped fruit and so is the litchi, which is also a drupe, commonly called a ‘litchi nut.’
The orange is technically a hesperidium, a kind of berry. The banana is a large, herbaceous plant with a
perennial root or rhizome, from which the plant is perpetuated by sprouts and suckers. The avocado is a
greenish, thick- skinned drupe, similar in size and shape to a large pear. The peach is a common name
for a deciduous orchard tree of the rose family and is the fruit of this tree. The plum fruit tree is of a
genus of the rose family. About 12 species of the plum are cultivated throughout temperate regions.

Which is the world’s largest island?
e British Isles
e Sri Lanka
e Borneo
e Madagascar
Correct Answer :-Madagascar
2)
Question Stimulus :-
Read the following passage and answer the question given below:

In 1992, the world’s largest island, Madagascar, issued a set of stamps featuring six species of cultivated
fruit. They were the litchi, the orange, the banana, the avocado, the peach, and the plum. The orange is
technically an oval shaped fruit and so is the litchi, which is also a drupe, commonly called a ‘litchi nut.’
The orange is technically a hesperidium, a kind of berry. The banana is a large, herbaceous plant with a
perennial root or rhizome, from which the plant is perpetuated by sprouts and suckers. The avocado is a
greenish, thick- skinned drupe, similar in size and shape to a large pear. The peach is a common name
for a deciduous orchard tree of the rose family and is the fruit of this tree. The plum fruit tree is of a
genus of the rose family. About 12 species of the plum are cultivated throughout temperate regions.

Which of the fruits are oval shaped and a drupe?

e Avocado



e Litchi
e Orange
e Banana
Correct Answer :-Litchi
3)
Question Stimulus :-
Read the following passage and answer the question given below:

In 1992, the world’s largest island, Madagascar, issued a set of stamps featuring six species of cultivated
fruit. They were the litchi, the orange, the banana, the avocado, the peach, and the plum. The orange is
technically an oval shaped fruit and so is the litchi, which is also a drupe, commonly called a ‘litchi nut.’
The orange is technically a hesperidium, a kind of berry. The banana is a large, herbaceous plant with a
perennial root or rhizome, from which the plant is perpetuated by sprouts and suckers. The avocado is a
greenish, thick- skinned drupe, similar in size and shape to a large pear. The peach is a common name
for a deciduous orchard tree of the rose family and is the fruit of this tree. The plum fruit tree is of a
genus of the rose family. About 12 species of the plum are cultivated throughout temperate regions.

Which of the fruits mentioned in the passage is greenish in colour?
e Plum
e Peach
e Avocado
e Litchi
Correct Answer :-Avocado
4)
Question Stimulus :-
Read the following passage and answer the question given below:

In 1992, the world’s largest island, Madagascar, issued a set of stamps featuring six species of cultivated
fruit. They were the litchi, the orange, the banana, the avocado, the peach, and the plum. The orange is
technically an oval shaped fruit and so is the litchi, which is also a drupe, commonly called a ‘litchi nut.’
The orange is technically a hesperidium, a kind of berry. The banana is a large, herbaceous plant with a
perennial root or rhizome, from which the plant is perpetuated by sprouts and suckers. The avocado is a
greenish, thick- skinned drupe, similar in size and shape to a large pear. The peach is a common name
for a deciduous orchard tree of the rose family and is the fruit of this tree. The plum fruit tree is of a
genus of the rose family. About 12 species of the plum are cultivated throughout temperate regions.

In which year did Madagascar issue stamps featuring fruits?
e 1985
e 1990

e 1992



e 1995
Correct Answer :-1992
3)
Question Stimulus :-
Read the following passage and answer the question given below:
In 1992, the world’s largest island, Madagascar, issued a set of stamps featuring six species of cultivated
fruit. They were the litchi, the orange, the banana, the avocado, the peach, and the plum. The orange is
technically an oval shaped fruit and so is the litchi, which is also a drupe, commonly called a ‘litchi nut.’
The orange is technically a hesperidium, a kind of berry. The banana is a large, herbaceous plant with a
perennial root or rhizome, from which the plant is perpetuated by sprouts and suckers. The avocado is a
greenish, thick- skinned drupe, similar in size and shape to a large pear. The peach is a common name

for a deciduous orchard tree of the rose family and is the fruit of this tree. The plum fruit tree is of a
genus of the rose family. About 12 species of the plum are cultivated throughout temperate regions.

Which kind of plant is the banana?
e Deciduous
e Herbaceous
e Prickly
e Coniferous

Correct Answer :-Herbaceous

Topic:- General Knowledge
)

Question Stimulus :-
Sardar Sarovar Dam is built on the river. / ORI} TR Ty EERTEEICIRID| %I
e Narmada / qﬁﬂT
e Betwa/dadl
e Son/HH
e Chambal / 99
Correct Answer :-Narmada / THGT
2)
Question Stimulus :-

Which country won the 2016 Asian Women's Hockey Champions Trophy? / fPadwra E'&ITI'I% qfgar it

IR eTBY 2016 S
e Japan / SITUTA

e India/ HIRd



e Malaysia / Hafrmn
e China /9

Correct Answer :-India / HIRd

3)

Question Stimulus :-

Which of the following is not correctly matched? / ﬁ'ﬁlﬁl@'ﬂ H A P '\ﬁ'ﬁﬁa qﬁﬁ %?
® [ISRO - Satellite launch /m - '\a%?l'l?ﬁ i
e NSE - Equity Derivatives / E‘I'Q'\‘l'g - E'%Tﬂ' Sfyafesy
e RBI - Custodian of Foreign Exchange / YR frord d - fagzht Hal & fiRe®
e PFRDA - Life Insurance /Tﬂ'Q'CF\?"I'R@TEr - Sftaq fH T

Correct Answer :-PFRDA - Life Insurance / Wmﬁ - Sftaq fH T

4)

Question Stimulus :-

Which of the following cities is called planned city of India? / frafafea %ﬁ T A 5 yRa &1 ﬁﬁl’iﬂﬁﬁ
YMEY HET ATl 82

Delhi / feeett

Ranchi / ﬁ_tﬂ

Panaji / quUTSIt
Chandigarh / 98171

Correct Answer :-Chandigarh / 48171

5)
Question Stimulus :-

Which of these International cricket stadiums is not in Madhya Pradesh? / frafafea & @ S GI_CIT{I'@TI
firdre RfsTw, Aoy d 8 32

e Nehru Stadium / ﬁ??? ‘é%‘m
¢ Roop Singh Stadium / Wﬁ?m
o Holkar Cricket Stadium / §Ta®R fopdbe wRfeqH
e Barabti Stadium / SRTId WfSTH
Correct Answer :-Barabti Stadium / SRTS! R fSaH
6)

Question Stimulus :-



has special autonomy under Article 370 of the Constitution of India. / YR dfau™ & Gla%_d 370
& dgd &) fasiy T T 3

Jammu & Kashmir / ST#] Tq PR

Himachal Pradesh / %TI'IW MY

Punjab / GoITd

Haryana / ghearom

Correct Answer :-Jammu & Kashmir / STR] Td PR

7)
Question Stimulus :-
Where do we find ‘Coral Reefs’ in India? / HTRd # °H “PHRd H” W\fmﬁﬁ"
e Rameshwaram / Tl'ef%RT[
e Ujjain / %1
e Rajasthan / ITSTRITA
« Madurai / Ug%
Correct Answer :-Rameshwaram / JTHYRH
8)
Question Stimulus :-
_______is also known as orchid state of India. / Pl URA & 3Hifdbs Isd & A9 A ff Sa %‘I
e Assam / 3HH
e Tripura/ ﬁ'g?T
e Nagaland / ANTdS
e Arunachal Pradesh / 30T WS
Correct Answer :-Arunachal Pradesh / 30T WS
9)
Question Stimulus :-
George castle is situatedin ___ National Park. / EIE] a"_\‘Wf, - ?T@'q I Ry« %I

Bandhavgarh / STYdTE

Kanha / dI-gT

Madhav / HTYd

Sanjay / HeTg



Correct Answer :-Madhav / HTYd
10)
Question Stimulus :-
Charminar in Hyderabad was built in . / geTaTE H ARUNR &1 fmfor | BT UTI
e 1591
e 1951
e 1681
e 1861
Correct Answer :-1591
11)
Question Stimulus :-

Which of the following countries won the most medals in the 2016 Rio Olympics? / a9 g a’slTﬁ 2016

ot sief®re § waffie uee Sfita?

e China /94

e USA /O IS4 AT

e Russia /™Y

e Germany / S
Correct Answer :-USA / Hgdd IT5g AT
12)

Question Stimulus :-

The Lakshmibai National University of Physical education is at . ﬁ&‘lﬂﬂ'l_g ?T@Tl' Y e
fayferemea H gl

e Panna/ UdAT

e Indore/ 'E'ga?

e Ujjain / %

e Gwalior / TR
Correct Answer :-Gwalior / TaTIeTAR
13)
Question Stimulus :-
is the smallest state by area in India. / &-‘]m *» SR HIRd I I BT I %I
e Mizoram / SR



e Manipur / HFOTR
e Goa/Tal

o Sikkim / Rifewa
Correct Answer :-Goa / TT
14)

Question Stimulus :-

_____,acity in Karnataka is known as “Silicon valley of India”. / HATed Bl TN, "HIRd @t
faferera aeft” & wu ¥ ST wrar 31

L Bengaluru/a'rlﬂ?‘_‘

J Mangalore/ﬁ"'l?ﬁ?

e Hubli / gFelt

o Mysore/ﬁﬂ?’
Correct Answer :-Bengaluru /a"ﬂﬁ??
15)
Question Stimulus :-

Iqbal award is presented by the Government of Madhya Pradesh to honour creative writings in

SHATA RPR, ﬁwﬁmmmmﬁ%mnmwmﬁmmél
Marathi / ARTST

Bengali / ST

Urdu / 3¢

Telugu / AT

Correct Answer :-Urdu/ 3§

16)
Question Stimulus :-

is famous for nail art and nail painting and has a patent in the same. /I &l Tq BIECG]

e & forg wfres & wd o2t & et dee o 21
 Wajid Khan / aTfoIG &
e M.F. Hussain / TH.U%. &
e Raja Ravi Varma / ITeIT 39 qaf
e Satish Gujral / TR ERTSA

Correct Answer :-Wajid Khan / arfore @+



17)

Question Stimulus :-

Least number of fairs in Madhya Pradesh is held in district. / HAYCRT ¥ A9 HH A

forer # smaifora g 7

Khandwa / G&dTl

e Rajgarh /TSl

Hoshangabad / 'Eﬁw
Indore / Ea?'

Correct Answer :-Hoshangabad / BIRRTTETG

18)

Question Stimulus :-

There is no airport in India named after ./ HRd ﬁ, & 9 waﬁé
gaTs 31g1 Tel &
e Rajiv Gandhi / 3ot 7T
e Mahatma Gandhi / HelHI Tﬁ?ﬂ
e Netaji Subash Chandra Bose / dToit JHUTUI% C1E:|
e Sardar Vallabhbhai Patel / GYGIR eAHHTS U
Correct Answer :-Mahatma Gandhi / WgTcHT Tt
19)
Question Stimulus :-
is known as flying Sikh of India. / P URA & “TFRAT T R & *q | SHET S gl
« Arjit Singh / 3ffota Rig
« Milka Singh / foremr Rig
e Navjot Singh / Faviid f¥ig
¢ Khushwant Singh / GRIdd g
Correct Answer :-Milka Singh / firemn ﬁl?
20)
Question Stimulus :-
The first Indian woman boxer to get a gold medal in Asian gamesis ./ Q'Q'PTI% Tl § wqof Uadh =

qrelt Ugell URd ufgar gabardt . g1

Pinki Rani / fa} I+t



e Mary Kom / AH FH
* Pooja Rani / SIT I
e Aruna Mishra / 37SUTT fi9m
Correct Answer :-Mary Kom / A w9
21)
Question Stimulus :-
Where is the famous ‘Bandipur National Park’ situated? / m “a'i_cﬂ'g? ?T@'q SEr” ﬁ}f@-ﬁ %?
o Sikkim / fafdwa
e Gujarath / J[SIRTd
e Kerala/ $%d
e Karnataka / $lcd
Correct Answer :-Karnataka / Fc®
22)
Question Stimulus :-
____is known as “Missile man of India.” / | “frarga A 3T sfear & U H ST STt g

A.P.J. Abdul Kalam / .Ut 5. 3(egd HaTH

Vikram Sarabhai / fa$H ARTHTS

Anil Bhardwaj / 3If-1a UIRgTl

Venkatraman Radhakrishnan / d®eqUT ITTHO
Correct Answer :-A.P.J. Abdul Kalam / t{tﬂ@[&l@ﬁ DATH
23)

Question Stimulus :-

Sri Harmandir Sahib, also known as is the holiest Gurudwara of Sikhism. / & ETH'%? '\‘I'I'f%ﬂ, o
& 9 A it ST ST 21 R et 1 e ufes e B
e Charminar / IRFIAR
e Golden Temple / Wuf'q'm
e Somnath Temple / '\‘ﬁ'q:lT?-l 'Flﬁ?

e Yogmaya Temple / TTHTAT HfeR
Correct Answer :-Golden Temple / TJUf HfeR

24)



Question Stimulus :-

Which of the following countries will host the 2026 Asian Games? / 2026 % TRTaTS Qe BT TASH fHd =1 A
foar s

e Japan / SITUTH

. Malaysia/ﬂaﬁ'm

o Philippines/w

e India/ HIRd
Correct Answer :-Japan / SITUTH
25)
Question Stimulus :-

Amjad Ali Khan is an Indian classical musician who plays . | 3HIG 3t @ Udh YR AR
HiftaeR & o CEIGE]

Sitar / FIAR
Sarod / W

Tabla / dddl

Santoor / R

Correct Answer :-Sarod / W

Topic:- General Computer Knowledge
1)

Question Stimulus :-

Which layer 1 devices can beused to enlarge the area covered by a single LAN

segment?
1. Switch
2. NIC
3. Hubl
4. RBepeater
5. RJ45 transceiver

ST T oK 1 Basas &1 399 Had LAN §99¢ ganT &ds
i@ F Trollel T & foT far ST Gt 87

1. g
2. NIC
i, B4

4. R

LAy

R145 transceiver

o lonly/aﬁ?l'l
e 1and3/1 33

e 3and4/3 3R 4



e 5only/ *qd 5
Correct Answer :-3and 4 /3 3 4
2)
Question Stimulus :-

What is the use of “Hide Slide” option in MS PowerPoint 2007? / MS PowerPoint 2007 H faHeT “Hide Slide” BT T

UGN g 82
¢ To hide the selected slides during Presentation / USeRE & ?aTF'T 3 [ [ o) BN IERT G| BI'S BT
¢ To hide the selected slides during Editing / Uﬁ"{ﬁ'ﬂ %?ﬁm ddaes resH 3 BILS DI
¢ To hide the selected slides during Printing / fifén & ?aTI:T Jds RNIEEL] Ca| BIgS DAl
¢ To hide the selected slides during Deleting / feeifén & aTI_"T Jddaes RS IEET] G| IS PIHAT

Correct Answer :-To hide the selected slides during Presentation / Elﬁ%"\"ﬁ & a?'l_-'l ddacs RNIEEL] Ca HES]
DIAT

3)

Question Stimulus :-

Which tag is used to display Preformatted texts in HTML? / HTML ﬁ, s m P RIS ﬁnz, 3_"“?[
¥ fopw &1 &1 Iua far wrar 82

e <pre>..</[ pre>

e <prefor> ... </ prefor>

o <pre text> ... </ pre text>

e <pre format> ... </ pre format>
Correct Answer :-<pre> ... </ pre>
)
Question Stimulus :-

Which standard govern parallel communications? / CaEk:| é'?;é, Wad Wﬁﬁﬂ'ﬁ oI fefa sar %?

RS232

RS-232a

CAT S5

IEEE 1284

Correct Answer :-IEEE 1284
5)

Question Stimulus :-

How to add alternative text for an Image in HTML? / HTML ﬁ, B'flﬁ * ﬁl'({ 3ee¥Afed dRe HA us ICZISIGI %?



e <img src = “http://www.google.com/logo.png” alternate = “Logo of website” />

e <img src = “http://www.google.com/logo.png” alt text = “Logo of website” />

o <img src = “http://www.google.com/logo.png” alternate text = “Logo of website” />

e <img src = “http://www.google.com/logo.png” alt = “Logo of website” />
Correct Answer :-<img src = “http://www.google.com/logo.png” alt = “Logo of website” />
6)
Question Stimulus :-

In Linux, what sign is used to erase or Kill an entire line you have typed and start you on a new line (but

not display a new prompt)?/ﬁ'lmﬁ, mma@aﬁﬁq&maﬁﬁtﬁamﬂ%mwaﬂﬁ
@fF T uine feet =Y giar 8) & fore i Tdba &1 SudT fbar Siran 32

c @
Correct Answer :-@
7)
Question Stimulus :-

In Excel 2007, you can use the format painter multiple times before you turn it off by . / Excel 2007 § 3

BAC TeT o1 F GRT 3T H1 A UgA ITDT 3P IR SUIART H JHhd ¢

® You can use the format painter button only one time when you click it / 3{Tq BIHe Yo g4 T SUUNT '
W 3P $IP $ad TH IR B 9D &

Double clicking the format painter button / BiHe Uer 9e- IR S [P I

o Pressing the Ctrl key and clicking the format painter button / Ctrl keyaa'lﬁ' Y BiHe e ged R faas
Cacy

o Pressing the Alt key and clicking the format painter button / Alt keyﬂﬁﬁ 8¢ Pie U ged R foas

Correct Answer :-Double clicking the format painter button / BIHe e ged IR S99 [ad b
8)
Question Stimulus :-

An excel workbook is a collection of / excel W Cal \"-I"JI_E' ﬁ?ﬁ %I

e Workbooks / W
e Worksheets but not charts / aémﬂa'a, dfpTarc T'I'{ﬂ

e Charts but not worksheets / T, A m el



* Worksheets and charts / aﬂﬂﬂt\‘[ ayT areé
Correct Answer :-Worksheets and charts /am qUT a1
9
Question Stimulus :-

Which class of TP address has the most host addresses available by default? / a1 Eé'\‘f H fEwiee & MR

W Haii® e U3 Suasy §id &2
e A
e B
e C
e AandB/A SR B
Correct Answer :-A
10)
Question Stimulus :-
In MS Word, Ctrl+ Tisusedto ./ MS Word HCtrl+ T
XA & g waiT fosan siran g
Hanging Indent /%ﬁi‘T 3@?
Left Indent / @mzs%?

Open Tabs Dialog box / & ST aiay U

e Terminate all opened Dialog box / HH¥d qﬁ Y STHANT dI9 §¢
Correct Answer :-Hanging Indent / %ﬁl‘T 3@?
11)
Question Stimulus :-

Which of the following is a popular DOS based spreadsheet package? / o= o O 71 yafed pos smerfya

Weic 15w 82

Word

Smart Cell

Excel

Lotus 1-2-3

Correct Answer :-Lotus 1-2-3
12)

Question Stimulus :-



In Linux, what command is used with vi editor to save file and remain in the editing mode? / o ﬁ, WwIgdd Iqq

&) P31 Y1 visfen /e & 99 381 & o1, vi ufeer & a1y fa wHie &1 ST forar s 82

Correct Answer :-:w
13)
Question Stimulus :-

In computing terminology, what is the term used to signify the communication system for transferring data

between components inside a computer?/mmﬁﬁﬁmﬂﬁﬁ WWWW
¥ Uped & fore fopar STaT @ & FrgeR & HiaR & FHiHcH & A9 31 TABY & e giar @2

Drive / SIgd
Sink / Ri®
Bus /&Y
Field / Bies

Correct Answer :-Bus /¥
14)
Question Stimulus :-
In MS Word 2007, Portrait and Landscape are ./ MS Word 2007 ﬁ, tﬁi? GRII ﬁ?ﬂ%ﬁ -
¢ Page Orientation / OST Gﬁﬁmﬁ
e Paper Size / TR argel
e Page Background / UST A3
e All of above / SURTad Faft
Correct Answer :-Page Orientation / U GﬁﬁQ%-'{H
15)
Question Stimulus :-

In MS-DOS, which of the following statement is valid about “TIME” command? / MS-DOS ﬁ, HHIS “TIME” & '\‘I'c{‘l-f

A= d AT aa AT 82

¢ Time command is used to display and allow changes to the system time / CIgH HHTS PT ITINT ReH

13 &) FET H31 941 3TN gU Ieardl B AN H & fore fpar srar @

¢ Time format can be changed by changing in country setting in config.sys file / CISH I P config.sys file s |

Hdl AfeT A geara H ufvafda forar o goar @



e MS-DOS displays the time in 12-hour or 24-hour format / MS-DOS CIgH P 12-9¢ TT 24 42 & UIRFY H

S w=ar @
e All of the above / JURIad T}
Correct Answer :-All of the above / SURTad JHt
16)
Question Stimulus :-

To create a new Word template document(versions MS Office version 2007 and above) you must format your

document to the required style and / Tl aéét@zsaqﬁ'c' (aﬁ:[ -MS Gm, oI 2007 TUT m GIT&)
fopue ®v & T Sus! S SHRpHc &I qifesa wrsa d wide adr g

e Save the document as a .domx file / sﬂqﬂt P .domx BIgd & ¥ A e AT

e Save the document as a .dotx file / saq;ﬁ?: P .dotx WIgd & &9 U e B

e Save the document as a .doct file / Sﬂﬂ? &1 .doct Bigd > w U H Tr&lﬁ' DIAT

e Save the document as a .docm file / 3@? P .docm Wwigd & &9 U e s
Correct Answer :-Save the document as a .dotx file / saq;ﬁ'e P .dotx BIgd FFUH e s
17)

Question Stimulus :-

In Windows, the key combination to open task manager is ./ fasta ®, ervp AFOR 3NUT F &
fore e g -

o Ctrl + Alt + Del

e Ctrl + Alt + Tab

e Ctrl + Shift + Del

o Shift + Alt + Del
Correct Answer :-Ctrl + Alt + Del
18)
Question Stimulus :-

The brain of computer system is . HHEYCY BT uf&rss gidr %

e ALU/TUY

. Memory/ﬁ"ﬁﬁ

o CpU /WY

e Control Unit/mqﬁf

Correct Answer :-CPU / HIdig.

19)



Question Stimulus :-

In MS-DOS, which command is used to delete the directory that is empty? / MS-DOS ﬁ, Raa GTM fafee s
& fore fore wHis &1 I fabar wiaT 82

e Del *.*

e RD

e FErase

e MD
Correct Answer :-RD
20)

Question Stimulus :-

Which is the correct to create an Arabic numeral list in HTML? / HTML ﬁ, mqﬁw fore WW & ﬁl'({
feada s &

e <ul type="1">

e <ol type="1">

e <il type="1">

o <litype="1">
Correct Answer :-<ol type="1">
21)
Question Stimulus :-
A Web site's front page or main page is called / fodt ag T3¢ BT e Tl q8] U Hedrdm % -

e Browser Page/ SR U
Search Page / LERE]
Home Page AER
Bookmark/ﬁib_q'lé?

Correct Answer :-Home Page / B UST

22)
Question Stimulus :-

What does the command routerA(config)#line cons 0 allow you to perform next? / BHIS routerA (config)#line

cons 0 3TUD! HP TTG HT HIA BT JIAT YT HdT 32
e Set the Telnet password. / AT UTIES 9911 91

e Shut down the router. / IT3¢X §¢G B DI
¢ Set your console password. / 3P HIIA URTS T4 DI



« Disable console connections. / A HARM fSATT H1 Bt
Correct Answer :-Set your console password. / 3MUS B YRS g4 BI
23)
Question Stimulus :-
Excel 2007 files have a default extension of / Excel 2007 ® &1 fSWiee EEF\‘%QFT _Ea?lT %I
e xlsx
e xlwx
e xlkx
e xlcx
Correct Answer :-xlsx
24)
Question Stimulus :-
What is Custom Shows in MS PowerPoint 2007? / in MS PowerPoint 2007 ﬁ:, Custom Shows T ﬁ?ﬁ %?

e Use the only some parts of the monitor is called Custom Shows / AIfIex & Had PO YT T SUART
Custom Shows hgdIdl %I

¢ The Presentation which can present only on particular date / dg uﬁ%ﬂ'ﬁ S Pad fafre fafy &1 g’f uﬁz
T o awar g

e Creating Presentations within a Presentation / uﬁ%mﬂ %? ?-ﬁ_cR' uﬁ%vm W HIHAT
e There is no option of Custom Shows / Custom Shows DT aﬁ'é ﬁwqﬁ 3-1?11 %
Correct Answer :-Creating Presentations within a Presentation / oo & Hiaw ysiezi™ ﬁ?EE' HIHAT
25)
Question Stimulus :-
In MS Word, “Ctrl + End” is used to / MS Word & “Ctrl + End” &1 UGN f5aT ST 2 -
* Moves the cursor to the end of Line / HER BI AP Jd A Uﬁﬂﬁ & forg
* Moves the cursor to the end of Document / HHR Bl saq;ﬁ?: CR LR tIE?Iﬁ & ﬁl’E
e Moves the cursor to the end of Paragraph /W Ca| aTI"JITlTF & id H ugirﬁ & ﬁl’Q
¢ None of the Above /GTR:]W ﬁ '\& ﬁ'é 7'|'{-ﬁ
Correct Answer :-Moves the cursor to the end of Document / TR @I gaq;ﬁ'e & 3aH tl'g'il'ﬁ & forg

Topic:- General Logical Reasoning
1))

Question Stimulus :-



If the length of a rectangle is increased by 5 %, then its area will increase by: / afe TP

ATTd B TS 5% TP 9l & 913, A SHPT A% d fova Ui a ¢ wm:
e 25%
e 5%
e 10%
e 7.5%
Correct Answer :-5%
2)
Question Stimulus :-

The least number that must be subtracted from 410 so that the remainder is exactly divisible by 37 is: / dg <J1dH

@, o 410 | gerT ST 9T aifds AW 37 1 Gt a¥g & favifora gt
e 33
e 23
e 13
«3
Correct Answer :-3
3)
Question Stimulus :-
(465/15) x 2 - (((180/3) x 5) / 10) - (36/12) = ?
e 20
e 24
e 25
e 29
Correct Answer :-29
4)

Question Stimulus :-

Complete the series choosing the missing letter/s: / Tt (&R D &l Ca| T P
ab_b_aa_b_ba

® a,3,3a
e b,b,b,b
e a,b,aa

® b,a,aa



Correct Answer :-b, b, b, b
5)
Question Stimulus :-

In the word 'SOPHISTICATED' the maximum distance between any two vowels is?/

'SOPHISTICATED' XTeg H, P15 I gt WRl & ot srftrwaw gt & 82
e 2
e 3
e 4
e 0
Correct Answer :-2
6)
Question Stimulus :-

If 5268 is coded DMPN and 13479 is coded AQFJL, then how is 396824 coded? / J13 5268 B pvpn I BIfSd fHaT

SITdT & 3R 13479 B AQFIL & BIfST fHaT SITaT 7, Y 396824 B HA PifSa foran Simar 82
e QLPNMF
e QLPNDF
e QLPNKJ
e QLPMNF
Correct Answer :-QLPNMF
7)
Question Stimulus :-
The series given below contains a sequence of alphabets and numbers. Identify the INCORRECT combination: / =
& TS JIaT A &Ry 3R YBT3l HT HH IR B | Tad HaIo Ugar-a:
i. 858plo7op7 ii. 858plo70p07 iii. 858plo7op7 iv. 858plo7op7
i
e i
o iii
* iv
Correct Answer :-ii
8)
Question Stimulus :-

In a row of 15 boys, when Ramesh was shifted by two places towards the right, he
became ninth from the right end. What was his earlier position from the left end of



the row? /15 @S®! 31 Ufed &, S 30 &) il % < w9 faurfua forar mar, A ag e R @
et 991 AT Ufea & 9 RN 9 ST s RIE & A

o 4th
o sth

6th

7th

Correct Answer ;-5

9)

Question Stimulus :-

Find the odd one out: /Wﬁwaﬁﬁm:
o Kolkata / PrerTdl

e Patna/GcHl

e Hyderabad / %ETI'HTE
e Nagpur / FTYR

Correct Answer :-Nagpur / IIITYY
10)
Question Stimulus :-

If seven workers finish two-thirds of a job in four days, then how many workers have to be hired to finish the
remaining job in one day? / afe TTd 4f¥r®, I feAt & wrd & q)-fagd W1 #vd & a1l v fea ¥ &k &1 1
B & ford fovaa affre! @1 v@= ghme

3

e 5

e 7

e 14
Correct Answer :-14
11)
Question Stimulus :-

The series given below contains a sequence of numbers. Identify the INCORRECT combination: / CIE] a Tl's: 81@?“ i

=130 BT pH IufRUA 2| Teid AT ggdr=a:
89, 78, 86, 80, 85, 82, 83
. 83

e 82



e 86
e 78
Correct Answer :-86
12)
Question Stimulus :-
233 x 2-500 + 49 x 8 — (704/4 + 12) = ?
e 170
e 180
e 160
e 150
Correct Answer :-170
13)
Question Stimulus :-

If tuhina means fire, arka means moon, vari means sun, chandra means water, dhara
means snow and hima means air and anil means earth. / af¢ tuhina T Adad % 317, arka 1
A9 § T59 vari BT UqAd ¢ §4 chandra 1 Uqdd § o, dhara &1 Adad 8 % FI¥ hima &1
Hqad 8 §47 3V anil &1 HaAd 8 g/

What is essential for fire to burn things up? / el B oA & o M &) fpad! smaxgsdr 82
e Tuhina
e Hima
e Anil
e Vari
Correct Answer :-Hima
14)
Question Stimulus :-

A certain sum is invested at a certain rate of simple interest per annum. The total

amount after five and eight years is Rs. 1,420 and Rs. 1,660, respectively. What was

the amount of initial investment? /Wﬁ'@ﬁmﬁuﬁﬁﬁwﬁfﬁﬁﬁ%wmwﬁaﬁﬁ

gmmm $d TP, UTd 3R TS TuT & qTG HHRT: 1,420 3R 1,660 ¥ g | YRS F13A%1 & 91 390
?

e Rs. 1,000 /1,000 ¥UT
e Rs.1,020 /1,020 =UQ
e Rs.1,100 / 1,100 ¥=UT

e Rs. 1,260 /1,260 3=UQ



Correct Answer :-Rs. 1,020 / 1,020 3JU
15)
Question Stimulus :-

At the time of marriage a man was 6 years older than his wife but 12 years after the marriage 6/5 times the age of his
wife. What were their ages in year at the time of marriage? /‘\’Tlﬁ & gHY Th G-I'Ia'lﬁ 3T Ut § 6 9 del Yl
AP TS F 12 TTA TG UL Ul BT 3T & 6/5 AT AT TS & THA, U T IS g F1 At

e 24,18

e 26,20

e 27,21

e 25,19
Correct Answer :-24, 18
16)
Question Stimulus :-

There are five different houses, U to Y in a row. U is to the right of V, and Y is to the left of W and right of U. V is to
the right of X. Which house is in the middle? / TP UG ®, UR Y, U SERT R &1 U, V B SR aRB &, 3 Y, W
1 9Tl R® 3R U BT R RE 81 V, X B gl TG g1 S AT R S A 82

e U

eV

e W

e X
Correct Answer :-U
17)
Question Stimulus :-

What is the time taken by a train of length 200 m travelling at a speed of 60 m/s to
cross a person travelling at a speed of 36 kmph in the same direction?/ 2001=ﬂ?\rm1'§

Wwwmﬁsswmﬁmﬁmw@mﬁwmﬁmm

e 4sec/4 APUS

e 5sec/5APUS

e 10sec/ 10 AHUS

e 11sec/11 YHUS
Correct Answer :-4 sec / 4 HUS
18)

Question Stimulus :-



Simplify:/ TT&l hifT:

12

—[sé+ 90— (5-3-2)}

bt | =

°
i

e -1
Correct Answer :--5
19)
Question Stimulus :-

If EXOTIC is coded CITOXE, then how is KINDLE coded? / JfgExotic &} citoxe Q@ wifsd foar
WITdT €, Y KINDLE Y S Bifed fpaT SrdT 22

DKLIEN

NEKDIL

ELDNIK

EIKNDL

Correct Answer :-ELDNIK
20)

Question Stimulus :-

IfP:Q::2:7;Q:R::3:2;andR:S::1:4;then,P:S::?/UﬁP:Q::Zﬂ;Q:R::3:2;3ﬁ?R:S::1:4;T‘|_GT,P:S::
?

e 2:8
Correct Answer :-3:28
21)
Question Stimulus :-

Complete the series choosing the missing number: / G T&AT AR YT Gl ORI DI
6, 25, 62, 123, 214,

e 223

e 196



* 456

o 341
Correct Answer :-341
22)
Question Stimulus :-

In the sequence shown below, which figure comes next? A feEd T
HH H, el IRl Sl T 3mAE

Correct Answer :-
23)
Question Stimulus :-
The square of 53 is: / 53 &I Tt %:
e 2,809
e 2,800
e 2,806
* None of the above / B'Q'gﬂ?l' ) aﬁs‘ el
Correct Answer :-2,809

24)



Question Stimulus :-

If the following two squares shown below overlap, which one ofthe following

options is formed? / Af¢, FFa fo@m™ 3@ ©F @91 Afocaiud &6 or

aFa fa@eal & O &l 91 g9
=

W

B
n

[ |

O
n

Correct Answer :-
25)
Question Stimulus :-

The average of 8 numbers is 25. If each number is increased by 15 %, then the new average of the numbersis / 8

T3 T 3N 25 81 Ufe YD T-AT B 15% | T four S, a s &1 =47 3id -

e 3045



e 28.75
e 35.67
e 20.45

Correct Answer :-28.75

Topic:- General Management
)

Question Stimulus :-

Sales and marketing information systems support at the top management level. / Y g TR W

P! faera 3R ATHTET AT womrelt gHdq war 81
® Pricing decisions / JeI rufRor
Advertising campaigns / ﬁ?lTCFT SfaT
Incentive schemes for dealers / @ﬂm‘f & ﬁl'l'{ ?h?\‘l'l?q TﬁTrF'ITI'{

Market research / STSIR HYUTH

Correct Answer :-Market research / TSR I
2)
Question Stimulus :-
is an example for current asset. /inquﬁ'\frtrﬁr, DI Th 3qIer Ul %I
Land / ‘1;[&[
Building / $HRT
Goodwill / JATH
Inventory / GUGE] (ql?l'-'\‘l?ﬂ)
Correct Answer :-Inventory / aTfereT (Wﬁ-ﬂ?-ﬁ)

3)
Question Stimulus :-
Financial statements are mainly prepared for / forftg faaron =t QI =q I durR forar Sran %:
e Only internal use | Had SMTAND T & ﬁl"'{
e Various stakeholders / fafird %ﬁﬂ'ﬂ?ﬁ @ﬁac'_‘\'aﬁ) & %"I
e Government / ST & ﬁl'l'{
e Creditors of the business / TUR %méﬁ %ﬁm
Correct Answer :-Various stakeholders / faf{d %ﬁw @ﬁﬁﬁ'\‘f) & ﬁl’({

4)



Question Stimulus :-

Imprest system / Float is followed in the case of / 3¢ YTt / Felle &1 & Aa o SIITHA
fFarsmar g

e Petty cash book / T m aﬁ

e Sales book / faspt aﬁ

e Pass book / UTH &

e Cash book/ma'{ﬂ
Correct Answer :-Petty cash book / T AHs 61
3)
Question Stimulus :-

What does it represent, if Net Present Value NPV <0 / 3[R fad adH= HU NPV <0 3-1?|T %?ﬁ g HT
et ®ear 82

NPV is in good stage /Q?m, 33t fRufa s | %I

NPV is exceeding the initial investment / Q=rtﬂﬂ’r, RS fFaw A arfte %I

NPV is less than initial investment / lFlTﬂTﬂ, RS fraw ﬁ DH %I

NPV is in bad stage /Q':l"'ﬂﬁ, §'\Pf fufa # %I

Correct Answer :-NPV is less than initial investment / Q?ﬁ, URT™® ﬁﬁmﬁ DH %I

6)

Question Stimulus :-

Which of the following characteristics is considered as a natural element of leading? / Frafafea fawaren

¥ fra Aga & W@IUIfa® ged & U § ST STaT @2
Continuity / fRazar

Delegating / WeaTaTST

Creativity / JoT-T=adr

Humanism / HTHAdTdIg

Correct Answer :-Delegating /uamﬁvm

7)

Question Stimulus :-

Which one of the following is a real account? / fafafea d a P Udh Tufe At %?
e Salary account / COEECIG]

e Mr. Ram’s account / 9t ITH BT @TdT



¢ Building account / fafesT 1 (ﬁl’quT rdn)

o Interest expense account / ST Y WTdT
Correct Answer :-Building account / fafeg srarde (ﬁl’q'fUT MTdT)
8)
Question Stimulus :-

are responsible for taking major decisions for the organization as a whole/

T F g a3 B 3 F frg iR §
e Top managers / o yd s
« Department Head / faHTT & uqy
e Supervisors / qﬁ&ﬁﬁ
e Junior Officers / Bf+Isa STl
Correct Answer :-Top managers / Y yeYys
9)
Question Stimulus :-
Bad Debts is shown on / 38 S& (=T HUI) weRia fear srar @ -
e Debit side of Profit and Loss account / @TH 3fi¥ ETEI rd Bt %ﬁ?q&[ s |
e Credit side of Profit and Loss account / @Y 3R g1 @1 &1 Hfee uer A
e Asset side of balance sheet /Wﬁ%m e |
o Liabilities side of Balance sheet / &< UA o azl_dlﬁ'*ﬁ » qe&f o

Correct Answer :-Debit side of Profit and Loss account / @TH 3T ETﬁf @rd ot 3fae &l |

10)
Question Stimulus :-

Working capital indicates / CAURI ] Tfﬁ HUGKTGI ?:

e Cash required for managing day to day activities of the business / UTUIR G| aﬁﬁ? Tfafaftrn & yde &

fere srrawa® T@q
¢ Funds required to buy inventory / W—H\iﬂ E’\ﬁaﬁ & ﬁl’E 3maRg® A
¢ Funds required to pay for loans / 80T YITdTq AP ﬁl'l'{ Smaxa® A
e Cash required to buy assets / afufy WA & ﬁl"’{ ICRUEC G |

@R

Correct Answer :-Cash required for managing day to day activities of the business / SATUIR 4| aﬁﬁ?

Tfafafirn & ude= & fore smawa® Ao

11)



Question Stimulus :-

refers to the science of measuring and categorizing consumer lifestyles./ ,

SUHIeT SHaRielt & H1g & g iR avfievor &t wefifa sar g
e Demographics / EELITCE)
e Psychographics/ 'FFﬁQ'%W GIEE VI
e Segmentation / I ICE
e Positioning / fRufa frefzor
Correct Answer :-Psychographics/ 'FFﬁq%W GIEE VI
12)
Question Stimulus :-
What is ‘grapevine’ from an organizational point of view? T® HISHIH® %ﬁas"rur | "?rqam" T % ?

e An informal channel of communication that evolves itself / IR BT Th SRS RO <) f Y Ca|
o sear 31

e A formal channel of communication / Gﬁ'cﬁlTP\’a‘T IO WT

e A formal and deliberate downward channel of communication / U@ 3R SITAADY 3f ‘éh'ﬂ@'\‘ﬁlﬂ
=T

e A formal and deliberate upward channel of communication / Stuafye iR CIECE LR W IR
T |

Correct Answer :-An informal channel of communication that evolves itself / TdR BT TH ST TR
it fop ge &t fawfaa Har 21

13)
Question Stimulus :-
Net working capital refers to A& P I]Trﬁ oI Hefia Hrdl gl
o Total assets minus (-) fixed assets / P iUl gera (-) Sl ufeufr
e Current assets minus (-) current liabilities / Wm Ycrd (-) T’-I'I?L%*FIT
e Current assets minus (-) inventories /Wm Ycrd () mﬁ'\‘fﬂ
e Current assets /muﬁ'\wﬁr
Correct Answer :-Current assets minus (-) current liabilities / ilﬁlm Ycrd (-) ?I'I?j\a'q?ﬂ
14)
Question Stimulus :-

refers to informal communication channel / . IFIUATR® JOR o9d B

el #are
e Grapevine / AUATSH (3 THTHR)



e Memo / JTY
e Circular / gRux

e Telephone / LA
Correct Answer :-Grapevine /ﬁnarsﬁr (3IYSC HHTHR)
15)
Question Stimulus :-

refers to that part of the profits of a company which is distributed to the share holders /

TP HUT & 1Y, ST IRYURS! ! faafya far sirar 8, & 39 8 & Jefifa swar 21

Dividend / GTHTRT

Interest / STl
Retained earnings / ufaurfya ?’TI'I%
e Lease rentals /tl%‘ &1 fovran

Correct Answer :-Dividend / ATHIRT

16)
Question Stimulus :-

refers to long term planning for proposed capital outlays and their financing /

, FdTiad Got URead SR 3% famraioor & forg Sdeiiere diemn &Y wafifa @var @
e Capital Budgeting / usrﬁ Sy
* Working Capital / PRI QFﬁ
e Term finance / 3af¥ & o=
e None of the above /m ﬁ '\Q ﬁ"é’ qﬁ
Correct Answer :-Capital Budgeting / 'llTrﬁ STggYg
17)
Question Stimulus :-

One of the earliest management thinkers to use the term MBO (Management by Objectives) / TH.&. 31
(ST MYTRT Y& US BT IYUNT H 914 a9 Ugd Yae faReI A A0 & -

Peter Drucker / 4le IR
Heinz Weihrich / 8138 agR®

Harold Koontz / 3318 $eal
Porter / TId%

Correct Answer :-Peter Drucker / Ufex SPY



18)

Question Stimulus :-

In a balance-sheet, goodwill appears as / ge-9A (aﬁv Qﬂ?’) ﬁ, gy FEUH Wﬁ’cﬁ
gl

o deferred liability / Wﬁﬁm
e intangible asset / GI'EEf ufeiufe
e fixed asset / IR uf=iufa
e current liability / iI'IFLaTI?IT
Correct Answer :-intangible asset / &Fﬂ\_cf gfvufa
19)
Question Stimulus :-
Based on importance, planning can be ./ Mg & YR TR, o= g e gl
e Formal and Informal / S iR sru=nfys
Proactive and Reactive / 3t 3R ufafsparsia
Long-term and Short-term /aﬂﬂﬂﬁﬂ? 3R DT TR
Strategic and Operational / mf 3R gfarerTa®
Correct Answer :-Strategic and Operational / W\*ﬁ? ufaraTE®

20)

Question Stimulus :-

Maintenance of personal accounts and cash accounts is called as /m @Tal 3R ECTARCIGIRC ]
SRETUT Fearargl

e Pure single entry system /ﬂammq@ﬁf

e Simple single entry system / W[{qu@ﬁf

e Quasi single entry system / ariqumuaﬁr

e None of the above /tﬂﬁ?ﬁﬁﬁaﬁiﬂé’t
Correct Answer :-Simple single entry system / mem
21)
Question Stimulus :-

Which of the following would qualify to be a strategic HRM activity?/ 3711?[ q P Udh Jrafi® TId3RUH Tfafaf
B & fore srgar urw st

e Imparting job-specific training in order to improve employee productivity / AR SATGHAT A JUrR &
%4 | Ao} fafkig ufamr #) ger s



e Determining the staffing pattern to optimise costs/ I 3JPpcT AP ﬁl'l'{ FUAR TTRIT BT
frufzor

e Administering the compensation policy that would encourage performers/ uﬁqﬁf Hifa &1 eI

&1, o freareatsit &) wrearg= e

¢ Determining the level and type of performance that is crucial for the growth of the organization/

e ¥ ™ & fire Aeayf fFArwmeT & yoR ik W & Ruifva A

Correct Answer :-Determining the level and type of performance that is crucial for the growth of the

organization/ ¥ & fas™ & frg wewayul fFrare & TR 3R wR ®1 Fuffta s
22)
Question Stimulus :-

refers to discrete initiatives that are intended to achieve radically redesigned and
improved work process in a bounded time frame. / 3dd Ugd &1 TefHd Bt % ISGEa B%'!RI,
i Tuasiton § Aiftre greuie SR AR F1f S 31 ufthar &) e =1 gl 3|

¢ Implications for managers / uauﬁ %ﬁqﬁri%amf

¢ Planning / LICE|

e Re-engineering / T: Sof=ast (Q: sfiraifAa)

e Empowerment of employees / HHATIGY BT HRIGRITBIT
Correct Answer :-Re-engineering / T: Zoltfad (G sifaifAst)

23)

Question Stimulus :-
What does intelligence mean? / m g 7 3 32
e High degree of knowledge / T4 DI I U
« Show self confidence / STTIYT fgT
¢ High desire for achievement / IUaf®s & ﬁl"! 3 g1

e To create vision, solve problems and interpret large amount of information / W@f?ﬂ DT Yol U3 Bl
T BT 3R TS AT H SFHRI B ARSI BT

Correct Answer :-To create vision, solve problems and interpret large amount of information / Z‘Raﬁﬁﬂ BT ol

T3 B g HIAT 3R TS AT A TP R] B ARSI BT
24)
Question Stimulus :-

What is a manager who inspires people to attain high performance levels is said to be good at? /at

WD, S AT Bl I T & TR B 9T B3 & g URa e 7, v die A <1 Sgamar @
J Leadinglﬁﬁmﬁﬁ
e Organising / Tifed HA °



e Controlling / IBUELELCE K|

e Planning / UICEIECEIER:|
Correct Answer :-Leading / ﬁ?jﬁ CaE ki
25)
Question Stimulus :-

What type outcome / effect would an organization face by rejecting on unsuitable candidate? / T JUYdd

SufigarR & P d A IR TH G161 DI fhd YR & TNRUTH/THT BT ATHAT HIAT GST?
e Negative / TPRTHD
o Positive / HPRTHD
e Unsuccessful / b
e Diminishing / @THHTA

Correct Answer :-Positive / GPIRTHD



